
Mesure d’un Rectangle (G)

Calculez les mesures manquantes pour chaque rectangle.
?

?

P = 84 ft

A = 392 ft2

1.

?

?

P = 300 mm

A = 5400 mm2

2.
?

?

P = 100 cm

A = 600 cm2

3.

?

?

P = 256 dam

A = 3840 dam2

4.

?

?

P = 126 hm

A = 810 hm2

5.

?

?

P = 324 yd

A = 5832 yd2

6.
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Mesure d’un Rectangle (G) Réponses

Calculez les mesures manquantes pour chaque rectangle.
28

ft

14 ft

P = 84 ft

A = 392 ft2

1.

6
0
m
m

90 mm

P = 300 mm

A = 5400 mm2

2.
2
0
cm

30 cm

P = 100 cm

A = 600 cm2

3.

48
d
am

80 dam

P = 256 dam

A = 3840 dam2

4.

18
h
m

45 hm

P = 126 hm

A = 810 hm2

5.

54
y
d

108 yd

P = 324 yd

A = 5832 yd2

6.
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